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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7
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P3-7
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m=825, FV0=0

43. 00 ~

42.75 ~

42. 50 ~

42. 25 A

42.00 ~

41.75 ~

—0—

MW

825

T
830

T
835

m=945, FV0=0

43. 50 A

43. 25 A

43. 00

42.75 A

42.50 A

42.25 A

——

M_W

945

T
950

955
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:00 -
135 -
:05
:00

:45
:40
125
110
:05
:30
115

&S

100

80

- 60

- 40
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P3-7

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

06:05 278 150.0 25. 83 FA| 1B2i%@06:05 B3h (KAB{EREEE)
07:00 278 150.0 25. 83 FA| 1BRi%@07:00 B3h (KAEREEE)
08:10 278 150. 0 25. 83 FA| 1E2i%@08:10 B3h (kA{EREE)
09:35 278 150.0 25. 83 FA| 1Bzi%@09:35 B3zh (KBRS
10:45 278 150.0 25. 83 FA| 1BRi%@10:45 B3h (KRAERSE)
11:40 278 150.0 25. 83 FR| {Ri%@11:40 Bz CGRAERE)
12:25 278 150.0 25. 83 FA| 1BRi%@12:25 B3h (RABERSE)
13:10 278 150.0 25. 83 FE| 1BRi&@13:10 Bzh (GRAEREE)
14:05 278 150.0 25. 83 FA| {Ri%@14:05 Bz (GRAEREE)
15:30 278 150.0 25. 83 FA| 1B2i%@15:30 B3h (RkA{ERSE)
17:15 278 150.0 25. 83 FA| 1BRig@17:15 Bzh (RABERSE)
23t+]3058.0 (117%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

FHERECE (2220.0 vs 4193.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=62 (2025-05-30)

150 A

100 A

50

200 A

150 -

100 -

50 A

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2200
1969

1600 650
470 350

Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

- 1000

r0

—— —_ ME 430

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

4004 0 | 1 [ 2 3 [ 4] 5] 6] 7] 8719 [10]1

1
Bylnit @D64 01:54: ET=1740 Fg=2100.0 Ro=420.0

i 3000
- 2000

- 1000
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P3-7

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:30 273 150.0 25. 83 S| {Ri%@06:30 B3 (KRAMERSE)
07:15 273 150. 0 25. 83 E BRi&e07:15 Bz (GRAERESE)
08:30 273 150.0 25. 83 F  BR1%e08:30 BE1 (RAERE)
09:40 273 150.0 25.83 (£ =| 1Ri%@09:40 Bz (RAEAERSE)
10:30 273 150. 0 25.83 |Z=| 1BRi&@10:30 Bz (GRAERE)
11:20 273 150.0 25.83 |Z=| {Ri&e11:20 Bz (REERSE)
12:10 273 150.0 25.83 (£ =| 1Rige12:10 B3 (RAERSE)
12:55 273 150.0 25.83 (Z=| {Ri%e12:55 Bz (REAEHSE)
13:35 273 150.0 25. 83 5| {Ri%e13:35 B3 (RAERSE)
14:15 273 150.0 25. 83 = RRiBe14:15 Bz (REAEESE)
15:00 273 150. 0 25. 83 E BRi&e15:00 Bz (GRAEREE)
15:50 273 150.0 25. 83 5| {Ri%e15:50 B3 (RAERSE)
17:05 273 150.0 25. 83 FA| 1BRi&@17:05 B3h (KRAHEEE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

FHERECE (2323.0 vs 4167.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=61 (2025-05-29)

L e e o T e TR e e p L 3000
VI, VBPERV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2640
2300 2200 2205
100 + - 2000
460 593
50 700 40 - 1000
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 4w vi —— ME §30.0
FRV maxM
e s s s e e e e e e e e e e e e e e e e e e -27.5
100 4 ! ! = F25.0
N 11l n
1.0 20.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
2'081 . 4 3000
Bylnlt:@D64 01:54: ET=1726 Fg=2100.0 Ro=416.0
300 A !
1 - 2000
200 A :
1
1 - 1000
100 - | /d/ B | .l
e b oo N H N
-
408 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 _0
1 3000
5 | i | g | Bg | g | G| G| BE | G | P i 5 | BB | B i 5 5 5 i 5 5 5 B 5
] 1
300 1"ByEt @61 19:10: ET=1784 Fg=2205.0 Ro=nan o 000
200 A
- 1000
100 - |
p—— @ © L
| GRS D TN e T S
4087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 -2000
i | B | B | B | KB | B|B|B| B |[Z2c|25|25|%25] B 5 5 |%Z=| BH | BH | BH | FH | FA | BB | ® =
] 1
300 ByWoFy 1@D64 01:54: ET=1593 Fg=1950.0 Ro=382.0 | 5000
200 A :
1
1 - 1000
100 :
p—— B ©
D e e
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0ol B | B |iE [ | B || [B|B |ZZ[ZX[(ZE|25] B 5 5 |%Z=| BH | BH | BH | FH | FA | BB | ® =
0.6 -
0.4 1
0.2 A
|
| _obs
PPFD_obs
RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)
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—o— M_E

i

750 7é5
m=885,n FV0=0

-o— M_E

il

890 895

23.

23.

22.

22.

22.

22.

22.

26.

25.
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—— MW
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m=885,n FV0=0
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36.
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43.
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45.
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m=450, FV0=0
5
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460 4%5 4é0
m=610,n FV0=0
—-o— MW
0_
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0_
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6%0 6{5 650
m=765,n FV0=0
-o— MW
0_
5_
0_
7é5 7%0 755
m=925,n FV0=0
-o— MW
0_
5_
0_

925 930 935

m=490, FV0=0

2054 o wy
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39.5
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T T T
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m=650,m FV0=0
—o— MW
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42.5
42.0
T T T
650 655 660
m=805,m FV0=0
—o— MW
44.5
44.0
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43.0
805 810 815
m=965,m FV0=0
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44. 00
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m=525, FV0=0
42.0 1 — W
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T T T
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T T T
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P3-7

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

06:40 278 150.0 25. 83 | 1Ri%006:40 B (RFEfRESE)
07:25 278 150. 0 25. 83 E BRi&e07:25 Bzl (GRAEREE)
08:20 278 150.0 25. 83 5| {Ri%@08:20 Bz (FAMERSE)
09:25 278 150.0 25. 83 = RRiB009:25 B (RFAEEE)
10:15 278 150.0 25. 83 =l RRiB010:15 Bzh (REAEEE)
11:00 278 150. 0 25. 83 S {Ri%e11:00 Bz (GRAERSE)
11:45 278 150.0 25. 83 = {Rige11:45 B3 (RAERSE)
12:25 278 150.0 25.83 S| {Rige12:25 B3 (REAERSE)
13:00 278 150. 0 25. 83 E| {Rig@13:00 B3h (RE{ERSE)
13:35 278 150.0 25. 83 F BRige13:35 Bz (GRAERSE)
14:15 278 150.0 25. 83 S| {Rige14:15 B3 (REAERSE)
14:55 278 150. 0 25. 83 E BRige14:55 Bz (GRAERRE)
15:40 278 150.0 25. 83 F BRige15:40 Bz CGRAERESE)
16:35 278 150.0 25. 83 = 1Ri%016:35 B (REAERSE)
21t]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 147.0), AIgEMAF—RE XAH45
BRI\ SEBRIERE147.0 ml.
#[EKECE (2400. 0 vs 4057.0) 35



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=60 (2025-05-28)

L e e o T e TR e e p st L 3000
VI, VPSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685

2200 2300 9205
100 - L 2000
475

FRV (ml d-1)

50 4720 400 - 1000

Warning: lcol [FVI',| "FVO’'] missing

200 ¢ 4300

150_ "275

100 - —25.OEI

-22.5

50 A

1.0 20.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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400 4By nit1@D64 01:54: ET=1704 Fg=2100.0 Ro=413.0 #3000
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m=500, FV0=0
47 —o— ME
2 -
0 -
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6 -
4 -
560 565 550
m=650,m FV0=0
07 —o— ME
8 -
6 -
4 -
2 -
650 6t|'>5 6éo
m=795,m FV0=0
—o— ME
0 -
8 .
6 -
4 -
2 -
795 800 805
m=935,m FV0=0
87 —o— ME
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4 -
2 -
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61 —o— ME
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465 470 475
m=610,m FV0=0
—— MW
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44.
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560 565 5io
m=650,m FV0=0
5 —— MW
0 -
5 -
0 -
650 665 660
m=795,m FV0=0
07 —o— MW
5 -
0 -
5 -
765 860 865
m=935,m FV0=0
—— MW
5 -
0 -
5 -

935 940 945

m=540, FV0=0
—— MW
41.5 -
41.0
40.5 -
T T T
540 545 550
m=685,m FV0=0
44.0 —o— MW
43.5 -
43.0 -
42.5
T T T
685 690 695
m=830,m FV0=0
—— MW
45.0 -
44.5 -
44.0 -
43.5 -
830 835 840
m=975,m FV0=0
—— MW
45.75 -
45. 50 -
45. 25 -
45. 00 -
44.75 -
44. 50 -

975 980 985




